2R T E XK

2844 9A KRR B B AR SR
T Al T % & [H

q | i 8:40 [9:40 [10:40 [11:40 [[1:40 [2:40 [3:40 [4:40 |[5:40 [6:40
: = 9:30] 1030 1130 1230 2:30] 30| a:30] ms0|| e:30] 730

1|4 17 18 15 16

2|+ 8 119 120 |12 x%{13 |14 1

3 A EThE 9 "0 4| 1 26 |25

4 [ H

5 | % 4 |5 6 |7 ol & 1

6 | K| ZFERE 23 24 17 18

TR ETHRE 26 25 2 3

8 | 4| mAHEER 15 16 8 19 20

o [ -] erme 122 B 26 |25

10 B[ 2Z¥ERE 17 18 192 I = 1

11| A

2| x| EermE 2 |3 26 |25 soolfS | | g

13 [ 7K 12 13 14 15 16

AR ETHRE 6 7 26 25 23 24

15| & zkEmE 21 |22 19 2059 | 1l8& |9

16| + 12 13 w14 1|4 |5

e 6 |7 5 |16 2% =] 1

18| H

lioi g

20 | /K 8 9 10 2 3

2| k| ETRE 26 |25 |21 29[22 | |

22| | HEBRE 17 18 19 20 4 5

2aillimn

2| B| ETHE 23 024 | 1 12/26 13]25 14

25| H

% | X 5 |16 soll o 4

2T K| 2EEmE 1 5

28 | A | HiERBR-ETHRE 19 20 26 25 17 18

29 | 4 8 1219 13|10 14f[21 75[22 3 1 6 7

30| | AFmE 12 0413 sl1a 1] 2 |3

H® FRHE, BPERNTAR>TOETII~10i3 1 BefE, | [ 11~2613 2Bk | OFFTT,

ok W=

2BPEDFRHT. BREBCE D 2B BEIC A>T DL E T,

FREGE 1103, BRRe B 2B - 13T A Ly MEGE T, (Big &I THY)
FRHEE 12-13-14 13, ISBHEEE T TR Lo TRV ET,

FR2EE T L TR G, BREZCE 2B - 1210 H (B ERRIEE) TR EE A, X,
FR2673 T LT aun b BRERE 2B ME - 14T H (s ) 2R £ A,

Rt B W i Rt L b= S




